MINERIFHAEER F=Eb 4 HRRES
Bs|BBH|AE BF ] ZOfth - ZRITERE %= HERS R
1 [ K| x 0
2 | K| x 0
3| K| x 0
4 | & | x 0
5 | 0
6 H 0
7 | B | x ER - BER 0
8 | x| O|16:00 ~ 17:30 AEX - SEEIER 1.5
9 || O|16:00 ~ 17:30 RELER®ER 1.5
10| & | O 116:00 ~ 17:30 1.5
11| £ | O]16:00 ~ 17:30 1.5
12| 0
13| H 0
141 B X FER 0
15| X | O 116:00 ~ 17:30 1.5
16| K [ O]16:00 ~ 17:30 1.5
17| A | O |16:00 ~ 17:30 £EZN - 2EWRRAE(9 F) 1.5
18| & | O ]16:00 ~ 17:30 1.5
19| £ | x BRESE PTAE ZEPTA 0
20 | H 0
21| H REARxH 0
22| X | O |16:00 ~ 17:30 1.5
23| XK | O |14:10 ~ 16:00 REEMEER 1.833
24| K | O |14:10 ~ 16:00 REEMEER 1.833
25| € | O |14:10 ~ 16:00 RIEMEER 1.833
26| £ | O] 9:00 ~ 11:00 2
27 | H x 0
28 | H X 0
29 | X B0 H 0
30| kK| O|14:10 ~ 16:00 REEMEER 1.833




